AY/AE Y (S g Syl ) p 5 Ol Oloie! o>

3
r
\H Y
Ve YF \F x 1 4 2 0 L)
¥ v

SR Y Gl b (6 o8l ) gl 1Y atls LB Y O3 Y L SWy e b (6 ol ) Zglia ) sl

. SHBY Ol F asla
S Yolileads C5 5 1324 basla Cs 5
ey oy oy 1| v =| - o .
Q_ - \ s . s T {?3\‘} CJJCM‘QK {V)\)Y‘}Idj‘@@\f
—vX 10
g - i ‘<i§ -— . 1Q
| +——tvs |
— S+) S+) —
Y= s+ Yy = li=| s
vs - ! 2 yer S x| YETLY.E=
S+) S+ |
L S_
ARV e s -
ET [V PO S+ s+ s
E=| = ,X:I‘zs =\——E\—>Yq\= S+) S+) I, = S
E.| |V ) ) Y
Y—— S+—— —
S+) S+ S
V, = (Iros+ )1 +KI) LV, =y(14kl) > o —H(g) = 0K ¥0rks -y
S V, Iyos +(0+Kk)s+y  STHf(V+K)S+¥F
) fO0+K)jo O +K)|o
H(jo) = Y0+ K] 0+K)[ol

—|H(jo)|=

—0 +¥( +K) jo+f JE-0) +150+K) o

(f-0) +1v¢0+k)o"'=u |H(jo)|=-— u—‘/QL[T(—Y(D)(\‘—OJY)+YY(\+k)r(o]co=~
u

+

\°—(1)Y=~—)(D,=Y_>|H(j(9‘)|:|H(j(D)|max:\

IH(jo) = > L= s () 150 e =) o
Y

JE—0) +150+k) 0 Y

Y Ce_. H|
(f—m*)=i\°(\+k)m—>{m ko= = BW=wy -0, =F0+k) !

o +f0+K)o-f=- N2 \
o \ |

=——= =\.=>k=—/40>BW-=-/¥ o @
BW y(\+k)

v, =-/vcos(-/ vt) +vcos(vt) + -/ ycos(y -t) —HURRHCI= Rld= 5y~ ycos(vt)

Q




5 Y GluslS 3 el m oSl /Y il G b 4 a5 b L Sl 1) 500 o |y s Ol g5 oo oK dslona O puk

3J|¢k¢gﬁ‘“md|JJﬁwKﬁd‘JsHQﬁ‘)ﬁ“‘aﬁ;uﬁjj&é;j‘wgﬁjhu"“L'Sg_;“&“\"b".

H(s) = —— =\——— s h(t) = 5(t) —e"'u(t)
S+ S+

lh(t) r(- 7) {h(\-‘r)
ik

e T T

N A A

yO) = [ x@hO-t)de=[ 1(-e? +8(0-)dr=e [ —te"dr+ [ 51— 1)

y()=¢e" [—re‘

T+ferdr+f8(\—r)dr}=e‘(—e+e—\)+\:\—e‘



